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Question 1.Select the related word/letters/number from the given alternatives.

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Aviator : Aviates :: Senator : ?

TAART aTerh : [AAe gofe @ faures : ?
Options:

1) Diagnosis

3T Y fAoTy

2) Legislates

Pl Sellell

3) Checks

SAr=AT

4) Commands

JTCRT &aT

Correct Answer: Legislates
el Tl

Candidate Answer: Commands

3TeRT AT

Question 2.Select the related word/letters/number from the given alternatives.

&3 T fashodl H @ HelfeereT Yee) 37&RT/TEdT 1 giav|
ABDG : CDFI :: EFHK : ?

Options:

1) GHIM

2) HILN

3) HIMN

4) HIKM
Correct Answer: GHIM
Candidate Answer: GHIM

Question 3.Select the related word/letters/number from the given alternatives.

3 1 ol & @ Haferd eree) 3R/ aedr # g
26:48::82:7?

Options:

1) 125

2) 122

3) 115

4) 120
Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

FATATT Teet # 2T 1w faehent & & fawe el 3tery/dedn 1 giav |
Options:

1) Cow

amT

2) Buffalo

#a

3) Horse

grer

4) Goat

T

Correct Answer: Horse
RiEy
Candidate Answer: Goat

EET

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

fAFAToRad geef & U 1w fashedt & & fawa eree/37eT/aEar 1 9T |

Options:
1) BDFH

2) ACEG
3) IKMO

4) RTVW
Correct Answer: RTVW
Candidate Answer: RTVW

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

TAFAfAfEd ueet & fow a1 fshedt 7 | fawe ese/3reR/aedm # gfAv |

Options:
1) 93

2)79
3)97

4) 89
Correct Answer: 93
Candidate Answer: 89

Question 7.Arrange the following words as per order in the dictionary

TAFATATT Usel T eAseehier 3 feT 1T A & HTaR FAET |
1. Eyelid 2. Eyeless 3. Eyesore 4. Eyesight
Options:

121,43
2)2,1,3,4
3)4,3,1,2

4)4,2,3,1
Correct Answer: 2,1, 4,3



Candidate Answer: 2, 1,4, 3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
T 9 H Ueh 37eTha 1T &, T b e ofedt €1 U 910 fashed’ & & a8 TET fdshed AT it 31eTshal ol U A |

NOA, PQB, RSC, ?
Options:

1) TUD

2) TVD

3) TUE

4) TVE
Correct Answer: TUD
Candidate Answer: TUE

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
39 el A U 3R o §, T vk e e B v a1v fawmedt & & a5 e fawew 9w S s @t |

10, 18, 28, 40, ?

Options:
1) 58

2) 46
3)52

4) 54
Correct Answer: 54
Candidate Answer: 54

Question 10.The age of the father 4 years ago was 8 times the age of his son. At present, the father's age is 4 times that of his son. Find the present age of son.

Teh AT B I 4 I gel I G T Y T 8 AT | AFAIA H AT B 3T 3T G T 1Y T 4 T[AT &1 T T FTAIT 1Y 3T hfore ?
Options:

1) 9 years

9y

2) 7 years

7 a8

3) 14 years

149y

4) 18 years

18a¥y

Correct Answer: 7 years
7 ay

Candidate Answer: [ NOT ANSWERED ]

Question 11.Prema is Ajay's sister. Benita is Ajay's mother. Benjamin is Benita's father. Leela is Benjamin's mother. How is Prema related to Leela

T 3751 T TgT &1 SToieT 31T T AT § | SeTonidled, Sfoer & AT § | ool SRt $H AT &1 YT T ollell T FIT TITT ¢ ?
Options:

1) Daughter-in-law

k!

2) Daughter

g‘:?r

3) Grand Daughter

LG

4) Great Grand Daughter

AT

Correct Answer: Great Grand Daughter

Ereinil

Candidate Answer: Great Grand Daughter
Erein)

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word.

fAEAToie fashed! 7 & G Wee YIAT ST QU 1T 2Uee; 3 &R o TAIT & TG TA1GT ST Fehel 81
ENCYCLOPEDIA



Options:
1) OPEN

2) PLEASE
3) CANOPY

4) PLEAD
Correct Answer: PLEASE
Candidate Answer: PLEASE

Question 13.If POPULAR is coded as QPQVMBS then FAMOUS will be coded as?

I POPULAR T 12 QPQVMBS ¥, @t FAMOUS &7 1S ITaT ?

Options:
1) GBNPUT

2) GNBPTV
3) GBNPVS

4) GBNPVT
Correct Answer: GBNPVT
Candidate Answer: GBNPVT

Question 14.If 1 x 3 x5 =1925and 7 x 9 x 11 = 4981121 , then find the value of 19 x21 x 23 =?

I 1x3x5=19253R 7 x9 x 11 = 4981121 &, ar 19 x 21 x 23 TFuF sRT&R g ?

Options:
1) 361529441

2) 361441289
3) 441361289

4) 361441529
Correct Answer: 361441529
Candidate Answer: [ NOT ANSWERED ]

Question 15.If - stands for division, + for multiplication, + for subtraction, x for addition, then which of the following equations is correct?

3PR (-) FTHTAS (+), (+) FT AT (X), (=) FTHATAS (=), (X) FT TATAST (+), &Y, AT TET THHOT AT HIfaIT ?

Options:
1)20-4+6+9x4=25

2)20+6-4x9+6=32
3)20+9%x9-4+6 =33

4)20x4-6-4+9=20
Correct Answer: 20-4+6 ~9x4 =25
Candidate Answer: 20-4+6 -+ 9x4 =25

Question 16.Find the missing number

ded 3 I HIST ?

Options:
1) 15

2) 12
3) 11

4) 16
Correct Answer: 12
Candidate Answer: 12



Question 17.P, Q, R and S are playing a game of carrom. P, R and S, Q are partners. 'S' is to the right of 'R'. If 'R is facing West, then 'Q' is facing which direction?

P,Q RIS IAWAREIP, R 3 S,Q TR &1 S, R & alfgely 30 a7 &1 T R T Ag7 ufesT ¥ 30 &), A Q o Jgr oy fem a7 & 2
Options:

1) North

3R

2) South

gfaror
3) East
kS

4) West

Correct Answer: North
3('“(

Candidate Answer: East

9§

kN

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Nutritious food is delicious and good for health. Honey is nutritious.

Conclusions: I. Honey is good for health. I

1. Delicious foods are nutritious.

3T AU AT § R U I gercded 7 @ -7 AT &7 § TE v/ AT e S Tehar
FUT: difScen HioteT Taese AR Feed & fow roT giaT & | 28 diftes ol
sy : I. 2rEe TRy & fav 31eoT 8

11. TaIfgse #etet difSes BT &1

Options:

1) Only conclusion I follows

Fad vy I TE 8

2) Only conclusion II follows

Fad sy I[ T8 8

3) Neither conclusion I nor conclusion II follows

AT ar forseny I Y & A7 & fseny 11

4) Both conclusion I and conclusion II follow

At ey 13T 11w &1

Correct Answer: Only conclusion I follows
ool IRy I @Y 8

Candidate Answer: Only conclusion I follows

Fae forsay [ 7 g

Question 19.How many triangles are there in the given figure?

&3 o o & fopeiel gt 8 2
N
o,
G
il
\\\ ; P \\\
S : /// ‘\\\
! -
\\\
-
)
Options:
1) 10
2) 12
3) 15
4) 16

Correct Answer: 16
Candidate Answer: 15

Question 20.Identify the diagram that best represents the relationship among classes given below:
DOCTOR, MAN, ACTOR

qE NG AT S o7 few 1w a9t & offer woaetr &1 WY foreaor e £
Sfaex , e, 31fdaAar
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Correc_t Answer:

Candic!ate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

et TN Soc TR Tl TRt & FIATT T I AT & ?

Options:
1)

Correct Answer:




Candidate Answer:

\\

\

™

e,

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& S Secl JTHTaaT 7 § 30 Ifw forwe ea st e 81

Options:
1)

2)

3)

Correct Answer:

Candidate Answer:




Question 23.A piece of paper is folded and cut as shown in the question figures. From the given answer figures, indicate how it will appear when opened.

3R TRy et bt w1t JMTeforat 3 feramr R 3regaR Hsa F1er ST At Wielet & 916 I8 o Scak 3Rty Sra ferams gam 2

Q@80

Options:
1)

2)

3)

Correct Answer:




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I Teh gYUT T MN XN R @1 ST &l & 318 See¥ 3Tpicral 7 A Flef-Ar 3Tepiel FeaT Iepicl 7 g7 Ffeifarss § ?

M<xexTsxN

Options:
1)

3)

4)

Correct Answer:

Candidate Answer:




Question 25.A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A' can be represented by 02, 65, etc., and 'S' can be represented
by 56, 68, etc.

Similarly you have to identify the set for the word 'RATE'
G2 H Ueh Qg Shdlol Ueh HEAT- HHE SN G 31T §, ST o fepedl # & fomdl ek 7 o oram &1 Repeil 3 few 1w dar - aopg 316w & aF aeif ganr grife a1e §, shar
T35 oY fow a7w & eyt #F §1 3meg 1 3 Tooe 3R Ifd i FEar 0 ¥ 4 AR I I 1 5 F 9 T 915 § 1 oo 37 3MSYE! A T 37&R Y ool 36T dfad IR a1g 7 Fa1

TEAT GART ST ST ThT & | 3ETe0T & foIw, A #¥ 02, 65, 3 SIRT ST ST ThT & TAT S Y 56, 68, 3Te SaRT ST ST ThelT & | S @ H MU feT 2rse; 'RATE' &
foIT HHg T gl 51

MATRIX | MATRIX II

al1]2]3]a Is|6|7/8]9
o |[T [R]A[F|E s|E[s[a[F]R]
lt]o[c[m[r[o] [6[A[R[O]S]C
2[e [s[r[T[a] [z]r]o[e]r]s
a/mM|A[N|P|C| |8]|S [M|T|A]|N
ot FiatelTele
Options:

1) 22, 24, 75, 99
2) 66, 77, 68, 23
3) 44, 77, 22, 87

4)22,77,79, 76
Correct Answer: 22, 24, 75, 99
Candidate Answer: [ NOT ANSWERED ]

Question 26.Special Drawing Rights were created by

IR 3701 3IRFR vt FeT10 & ?
Options:

1) IBRD

HeeRTSgrg GoAfotAmT 7 fashre 3

2) ADB

TR G i

3) IMF

3HeeTSEr Hgl HIY

4) WTO

Ted IR GIrssT

Correct Answer: IMF
RIS HgT Y

Candidate Answer: IBRD
HeeRTSgrg GAfAAT 7 e 3

Question 27.In which of the following States India's first Green Rail Corridor was recently launched

Frfaf@a & @ fre Uo7 g1 &1 ol Yo RIS 4% frar arar § 2
Options:

1) Karnataka

i

2) Maharashtra

HERTSC

3) Himachal Pradesh

e Eeherall

4) Tamil Nadu

GIGEGIE

2
Correct Answer: Tamil Nadu

BIGEDIC

2
Candidate Answer: Tamil Nadu

BIGEDIC

2

Question 28.The Andaman is separated from Nicobar by which water body?

3TSHIA T AR F HlTET STof-Flled JUeh HIAT & ?



Options:

1) 11° channel

11° J=Ter

2) 10° Channel

10° d=er

3) Palk Strait

ITeh BT

4) Gulf of Mannar

AaTR Fr @rEr

Correct Answer: 10° Channel
10° d=Ter

Candidate Answer: Gulf of Mannar
AraIR Fr @I

Question 29.The suicidal bags of the cell are

5T & Q, BTy PIRIAT & e 397 g ST &2

Options:
1) Lysosomes
GIES R

2) Ribosomes

QST IER:)

3) Dictyosomes
[EEzasiea:y
4) Phagosomes

Lipiicsie=:)

Correct Answer: Lysosomes
GIES s

Candidate Answer: Ribosomes

REEIIER:)

Question 30.In arc welding, Argon is used because of its

'3 oS & 3t ST T R SiraT § e -
Options:

1) Low reactivity with metal

T & T SHHY ITHITHaT H Gl ¥

2) Ability to lower the melting point of the metal
SHH U & T foig BT o el ST &THAT eIl £
3) High flammability

SHH 3T SalTNedT gl g1

4) High calorific value

STH 3T AT AT ST ]

Correct Answer: Low reactivity with metal

€] & T ! SUshiTcTehcll FHa el B
Candidate Answer: Low reactivity with metal

€] & WY TN SUShiTcTehell o Il 8

Question 31.In India, which city is also known as 'City of Palaces'?

HRT A T 26T T 'Fg el T T & 17 & 37 ST ST g ?
Options:

1) Jaipur

AT

2) Kolkata

PITHIAT

3) Gwalior

ECIDES

4) Udaipur

3TN

2
Correct Answer: Kolkata
EaEEIGI

Candidate Answer: [ NOT ANSWERED ]

Question 32.Inert gases are

e g A gl



Options:

1) Miscible with water

STt & fRsoiy

2) Not stable

IR

3) Chemically unreactive

T AE T Jferareiier

4) Chemically very active
T ¥ & SgT forameier
Correct Answer: Chemically unreactive
T ¥ & 3ifsarier
Candidate Answer: Not stable

kKlir=iny

Question 33.Chemical name of vinegar is

O T TS AT FATE ?

Options:

1) Acetone
e

2) Acetic acid
THIfeH I

3) Formaldehyde
HHERRS

4) Ethanol
AT

Correct Answer: Acetic acid

wifee 3T

Candidate Answer: Acetic acid

wifeed 3T

Question 34.Jalikattu is associated with which Indian festival?

‘iferpg’ e SR THER & SIS & 2
Options:

1) Onam

3o

2) Pongal

qifaTer

3) Bihu

1ZSI)iHornbill

giiferer

Correct Answer: Pongal
qiaTer

Candidate Answer: Pongal
qieTer

Question 35.Aung San Suu Kyi is the

draa R AT ?
Options:

1) Prime Minister of Myanmar
FATAAR FHT T

2) President of Myanmar
FHAAR Fr Tegufa

3) Foreign Minister of Myanmar
FTAR I faeger #r

4) Home Minister of Myanmar
HIGTHAR H I[¢ HN

Correct Answer: Foreign Minister of Myanmar

FAAR Fr fager J4r
Candidate Answer: President of Myanmar

AR & Isgafar

Question 36.The amount of insurance cover provided by Indian Railways for passengers at a premium of Re. 1 is

0 1 & AT W ARAT Yo [emr I3t & foras Ui &1 ier-Fax ear §?



Options:

1) (1 One lakh

[ Teh ol

2) [ Fifty thousands

L 99T g9k

3) [ Ten lakhs

[ & o

4) (] Five lakhs

O o o

Correct Answer: [ Ten lakhs
U cH g

Candidate Answer: [ Ten lakhs
U cH og

Question 37.The members of the Rajya Sabha are elected by

T T & Fe T 1 JoArd forareh eary T st § ?

Options:

1) Elected members of the Legislative Assembly
faeT H11 & o7 §U Her il ganr

2) Elected members of Legislative Council
faent afee & I g Fawt garT

3) The people

STl SaRT

4) Lok Sabha

olieh HHT G@RT

Correct Answer: Elected members of the Legislative Assembly
faeT F11 & o7 §U HeF il ganr

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which of these is a dwarf planet?

fFfafad # 8 Sl ST ag' § ?
Options:

1) Neptune

AT

2) Titan

[

3) Eris

wE

4) Hydra

RGeS

Correct Answer: Eris

i

Candidate Answer: Neptune
AcegeA

N

Question 39.The concept of joint sector implies cooperation between

"Hg T 8" T o1 H e i HEAaT H1aeh gar g ?
Options:

1) Public sector and private sector industries

AT 8 3T IS 8 & set &

2) State Government and Central Government

T WEHR AR Fog WHR & a7

3) Domestic and Foreign Companies

oY 3R R ot & v

4) None of these

EREEIEE

Correct Answer: Public sector and private sector industries

oo 8 3T ISk 81 & segelt &
Candidate Answer: [ NOT ANSWERED ]

Question 40.What was the chief objective of the 'Wahabi movement'?

TETE Tt T T 3o FATAT?



Options:

1) Forge cordial relations with the British
TSR TR & WY HER HeitT FoAlll

2) Purify Islam

ST T TRYG AT

3) Improve the condition of women
Afgensit $r Rufa Sgax seien

4) Adopt rational education
GEREIGARIKECICH

Correct Answer: Purify Islam

SEIH T TR AT

Candidate Answer: [ NOT ANSWERED ]

Question 41.The Ghatampur thermal power plant recently approved by Cabinet is to be setup in

&TeT &1 3 ARG G@aNT 3TA TR e o] Tee’ et T fam s ?
Options:

1) Rajasthan

ST

2) Uttar Pradesh

3edT WSRr

3) Karnataka

FeAleh

4) Madhya Pradesh

T g

Correct Answer: Uttar Pradesh
3eal 9&=T

Candidate Answer: Rajasthan
ST

Question 42.Who among the following is credited with starting the work on plant tissue culture?

AT 7 O e 'IIesH Fds Hade 1 F IRH fora ?
Options:

1) F.C. Steward

T, A TEaE

2) P. Maheshwari

Y. FgRadr

3) P.R. White

. 3R, BT

4) Haberlandt

EAGIES

Correct Answer: Haberlandt

SAGIES

Candidate Answer: [ NOT ANSWERED ]

Question 43.What causes the mottling of the dental enamel ?

& & TeiHel &1 H0T e FROT A QAT & ?
Options:

1) High levels of chlorine in water

1Y F 3T AT H Fe & HROT

2) High levels of nitrate in the water

UT=AT 7 3T AET H ASee o hROT

3) High levels of fluorides in the water
Tt 7 3T AT F FARISS & HROT

4) High levels of calcium in the water

qieAT 7 3T AT H Hfcrr—# & SR
Correct Answer: High levels of fluorides in the water
Tt 7 3T AET F FARISS & HROT
Candidate Answer: [ NOT ANSWERED ]

Question 44.Which one of the following processes is responsible for the glittering of air bubble rising through water?

9T & & YeT gleT ATl Jolgel A S THD Bicl & G6 [ohd TishaT o HROT Gl & ?



Options:

1) Reflection of light

YR & TR & HROT

2) Refraction of light

TERIRT & 3Idcel o PROT

3) Total internal reflection of light

SERTRT o FFOT ST Reh SRIaciel & HROT

4) Scattering of light

TR o ThIOTeT 3 HROT

Correct Answer: Total internal reflection of light

SERTRT o FFOT eI Reh SNIaciel & o7

Candidate Answer: Refraction of light
TR o T & HROT

Question 45.In an optical fibre the signal is transmitted

YhIRIeh (3TTCeehet) BIsaR # fAvsTel 8 AN glar §?
Options:

1) in a straight line path

A @ T 7

2) In a curved path

gHEER 99 7

3) due to total internal reflection

FHOT 3R TRacie & HROT

4) Due to refraction

3 & HROT

Correct Answer: due to total internal reflection
FFOT AT N TRl & FHROT

Candidate Answer: due to total internal reflection

FFOT 3Ted N TRaciel & FHROT

Question 46.In IT, the method for updating the main memory as soon as a word is removed from the cache is called

S H A TS A gerd & FET AR Y 3 wa i fafdr i aar e §2
Options:

1) Write-through

ey

2) Write-back

-

3) Protected-write

FeFIIBET

4) Cache-write

HT-TGE

Correct Answer: Write-back
-9

Candidate Answer: Write-through
WY

Question 47.Which one of the following is not a non-conventional source of energy?

AT 7 T PAAT FoAT T IR-RERETT A A& & ?
Options:

1) Solar Energy

R el

2) Natural Gas

Tl

3) Wind Energy

arg Far

4) Tidal Power

SR AT

Correct Answer: Natural Gas
wTpfa e

Candidate Answer: Natural Gas
i |

Question 48.The space shuttle which took Sunita Williams beyond earth was

o8 29 2reet (3iaRer 1) § goltar faferass gedt @ w918 off 3% o a7 a1 ?



Options:

1) Challenger

IR

2) Galileo

AMaferar

3) Discovery

[EETIRY

4) Voyager-2

TRISR-2

Correct Answer: Discovery

fEghak

Candidate Answer: Voyager-2
TRSR-2

Question 49.Selling cost have to be incurred in case of

frfaf@d # O fra Rafa 7 oy aeTd agat e STy gar 87
Options:

1) Perfect competition

ot frAfrar

2) Monopoly

THIHR

3) Monopolistic Competition

THITEHRT Ffaafaar

4) None of the given options

& faeredt H & IS A&7

Correct Answer: Monopolistic Competition

REQIBEAUEICR TG

Candidate Answer: Monopolistic Competition

REAIBEAUNIERIEIC

Question 50.The earliest reference to sati custom is made in which of the following inscriptions?

rfafla # 3 e e / Ricmera & T w2 1 arderds deat Boar g ?
Options:

1) Allahabad Pillar inscription

EQHEICRSERN e

2) Eran inscription of Bhanugupta

STaTCcl T WO RIeTele

3) Aihole inscription of Pulkesin II

e TR 11 37 3T Feure RIeTere

4) Bhitan inscription of Skandgupta

Theed[oel I el Ricleld

Correct Answer: Eran inscription of Bhanugupta
IOl 3T WO RIeeld

Candidate Answer: [ NOT ANSWERED ]

Question 51.Ram and Hari can cut 12 kgs nuts in 2 days. After 5 days, Hari left the work. Ram took 8 more days to cut the rest of the nuts. If total of 58 kgs of nuts
were cut, the time taken by Hari to cut 10 kg of nuts is

T 3R & 12 k.3, T 2 et 3 e Tt €1 5 8T a1 630 1o ©Ys o ell STelT § | T T QW Y shieat 31 8 T 31R o9 | I et 58 To.amm Iy hreh 978 ot 68 7 10
5.7, Ry e & foha=T o o ?
Options:

1) 1 day

1

2) 2 days

2 et

3) 3 days

3R

4) 4 days

4 e

Correct Answer: 4 days

4 et

Candidate Answer: 3 days

3 e

Question 52.A trader marks his goods in such a way that after allowing a discount of 10% he gains 15%. If an article costs him Rs. 720, his marked price is

T SATINT 31991 AT TR ST 3704 3Hered AT § 7 10% 1 G ot & 16 38 15% T oS gIcAT §| TG ForefT Iy oY AIeTd 39 Rs. 720 wsclT § ot 3waT 3iferet Fiear fovera
e ?



Options:
1) Rs.920

2) Rs.900
3) Rs.820

4) Rs.950
Correct Answer: Rs.920
Candidate Answer: Rs.820

Question 53.If a certain amount is fully distributed among A, B & C in such a way that A receives 1/2 of the amount, B receives 1/3 of the amount and C receives [
1200, then how much money would A receive

afe 5 AR TR A,B 3R C 3 i avE 50 TR faafd 1 A & & A &1 R &7 1/2 #RT, B &1 AR &7 1/3 #161 31X C H 0 1200 Hed & aF A Fr o=t iy et

Options:
1) 4000

2) 1600
3) 3600

4) 1800
Correct Answer: 3600
Candidate Answer: [ NOT ANSWERED ]

Question 54.The selling price of an article is 8/5th of its cost price. Then the gain percentage is

TRl ] o SISl #{er 3Teh ofl9Tel #[e o1 8/5 ¥ T ot Ffcerd fohcter & ?
Options:

1) 20%

2) 28%

3) 60%

4) 68%

Correct Answer: 60%

Candidate Answer: 60%

Question 55.If the salary of Manoj is 40% less than that of Subhash, then by how much percentage is the salary of Subhash more than that of Manoj?

T AAST T Ielel GHN & deled T 40% H §, Tl GHIN T Aol Hellol & Aol § Tohelell Ticrere 37ern § ?
Options:

1) 60%

2)

66-%
4

3)
66-%
3

4) 65%
Correct Answer:

6o-%
3

Candidate Answer:
66-%
3

Question 56.A passenger train running at the speed of 80 kms/hr leaves the railway station 6 hours after a goods train leaves and overtakes it in 4 hours. What is the
speed of the goods train?

80 for. Y. /ger Y AT & T TET AT IS, ATCINST & T2 BISaA o 6 6T TG, Yold TR DSl ¢ AR 4 69 H 357 319 fedehel SAcT § | AT@MST 1 91 TAST ?
Options:

1) 32 kms/hr

32 .30 /ger

2) 50 kms/hr

50 fo5.a./ger

3) 45 kms/hr

45 for. . /eer

4) 64 kms/hr

64 for.77./ger

Correct Answer: 32 kms/hr
32 . /ger

Candidate Answer: 64 kms/hr
64 1.3 /ger



Question 57.How much simple interest will Rs. 4000 earn in 18 months at 12% per annum?

Rs. 4000 9T 18 AE & 12% a1f¥er saTeT Y & A fhclelT ATIROT sATeT 3foid 2R ?

Options:
1) Rs.216

2) Rs.360
3) Rs.720

4) Rs.960
Correct Answer: Rs.720
Candidate Answer: Rs.720

Question 58.

1 o 7L
If a+— =2 then the value of a® +— will be
a ri

1 .
e a+a=2Ja’ra=+E T HIA FITRIEM ?

Options:
1)0

2)1
3)3

4)2
Correct Answer: 2
Candidate Answer: 0

Question 59.
2+43

The value of (-— — 443)2 is

(222 _ 44/3)2 IR FATE?

2 -3

Options:
1) 36

2) 36v3
3) 49

4)49 + V3
Correct Answer: 49
Candidate Answer: [ NOT ANSWERED ]

Question 60.The mid points of AB and AC of the A ABC are P and Q respectively. If PQ = 6 cm, then the side BC is

A ABC % AB 3R AC & Heg farwg shaen: P 3iR Q &1 e PQ = 6 .7, &Y 81T BC fehrcteir g1l 2
Options:

1) 10 cm

10 T4

2)12cm

12 3.7

3)8cm

8 q..

4) 14 cm

14 9.7

Correct Answer: 12 cm

12 |4

Candidate Answer: 8 cm

8 a.A

Question 61.The difference between the largest and the smallest angles of a triangle whose angles are in the ratio of 5:3:10 is

Tk U 389, ToIEeh l0T 5:3:10 & 3ie[dict # ¢, 36 Fod 93 3R Tl Bl 0T & iy v =11 31wk & 2



Options:
1) 20°

2) 30°
3) 50°

4) 70°
Correct Answer: 70°
Candidate Answer: [ NOT ANSWERED ]

Question 62.If Sin® = V3/2 and 0°<©<90°, then the value of tan(©-15°) is

I SinG = V3/2 T 0°<0<90°, A tan(6-15°) F1 AT FATE ?

Options:
1)1

2) V3
3) 1/V3
4)V2

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 63.Find the greatest number that will divide 390, 495 and 300 without leaving a remainder

Ig IY T TEAT A1 HIfSIT A 390, 495 31 300 Y =TT HIS AVhel DI [FanTad a8l ?

Options:
1)5

2) 15
3) 25

4) 35
Correct Answer: 15
Candidate Answer: 15

Question 64.The average age of 30 boys in a class is 10 years. If the age of their teacher is also included, the average increases by one year. The teacher's age in
years is

Teh e 3 30 ofsehl 1 A 1Y 10 a9 &) Afe 37k RigTeh 1 Y 87 e o ¢ At weh o w7 S| Rieseh i 3y foradr & ?

Options:
1) 38

2) 40
3) 30

4) 41
Correct Answer: 41
Candidate Answer: 41

Question 65.
i 1 1
The value of —+ + is
( (p-nl(n—q) (n—gllg—p) (g-p)ip-n)
1 1

1
I H FHT 6 ?
(p—nlin-q) (n-gllg-p) (q—m(ﬁ—n}J %

(

Options:
1)1

2)0
3) p+g+n

4) 2n/p+q
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]



Question 66.
r b: rd 1
b oo v Ty s
btc cta atb 1ta

i S
—+ s
1tb 1+c

afr == Loy gdts D+ IwAnamd?

1
bie cta ath 1+e 1+k

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 67.If O is the centroid and AD, BE and CF are the three medians of A ABC with an area of 96 cm? then the area of A BOD in cm? is

T 96 .2 & ABel arel AABC T hgeh O & 31T AD, BE T CF 3! il AITEGeRT &, Y ABOD &1 &¥athel &.302 & farciatr glam ?

Options:
1)8

2) 12
3) 16

4) 24
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 68.Two chords AB and PQ of a circle intersect at D inside a circle. If AD = 4 cm, DB = 6 cm, QD = 3 cm, the length of PQ is equal to

Ush ged 1 e Siiar AB 3R PQ Ueh-g@R i ged & it fdeg D O &reet &1 TS AD = 4 9.3, DB = 6 A0, QD = 3 A0, df PQ &1 oias fohash aXrsv & ?
Options:

1) 11 cm

11 9.4

2)8cm

8 q.Am.

3) 9cm

9 ..

4) 10 cm

10 {7

Correct Answer: 11 cm

11 9.4
Candidate Answer: [ NOT ANSWERED ]

Question 69.
i cosecf+sind &
!

ey then the value of sind is equal to

Eﬁ% cosscB+sin £

cosscf —sin g

g dlsing Tha=ig ?

Options:
1) 1/2

2) 1/ V2
3)V3/2

4)1
Correct Answer: 1/2
Candidate Answer: [ NOT ANSWERED ]

Question 70.A cylindrical vessel of radius 4 cm contains water . A solid sphere of radius 3 cm is dipped into the water until it is completely immersed . The water level
in the vessel will rise by

T 4 QA ST dTel SeATeh et 3 arelt &1 3 A3, B avell Ueh S aitell ITelt 7 I e SATAT ST © ST ook dg Q0 g o 39 S| Fctel 3 STt ol &) ettt g
SR ?



Options:

1)3.5cm

3.53.4n

2)2.25cm

2.25 3.4

3)2cm

28

4) 3.8cm

3.8 3.4

Correct Answer: 2.25 cm
2.25 &

Candidate Answer: [ NOT ANSWERED ]

Question 71.The angle of elevation of the top of a tower from two horizontal points (in opposite sides) at distances of 25 meter and 64 meter from the base of tower
are x and 90° - x respectively . The height of the tower will be

T AT & ool ¥ 25 2. 3R 64 3. A g o) (Rl Remait ) o aifdrsr gt @ <faw & oM R 3eerarer o swaren: x 31 90° -x §1 SHay &y 3wrg fhcett ghefr 2
Options:

1)39m

397

2)89m

89 =T,

3)1.6m

1.6

4)40m

40 7.

Correct Answer: 40 m
40 7.

Candidate Answer: [ NOT ANSWERED ]

Question 72.The bar-chart is showing the number of accidents in a city during the first six month of a year . Examine the bar chart and answer the following questions

Igl U 9T aR-=1E A a9 & GYH 6 Al F g5 guA3 H FEAT &2 7S | TR S AT 3R Fr=faf@a geat & seax A

A
45— 43

| 35

35 — A
30
T 30 —| — 27
25
Mumber of 25—
Accidents 1 19
20—
15—
10—
5 —
~
o
lan Feb It Apr May June: ®

Manth  ——3

What is the % of accidents in the month of April to the total accidents in the city ?

Hﬁam’gﬁgégézﬂﬁ :mﬁgégﬁgémﬂﬁwmmqﬁm%?
Options:

1) 15%

2) 20%

3) 22%

4) 24%

Correct Answer: 24%

Candidate Answer: 24%



Question 73.The bar-chart is showing the number of accidents in a city during the first six month of a year . Examine the bar chart and answer the following questions

Tg1 T 1T aR-T1E A Y & YUH 6 FIE A §$ QU I HEAT &= 315 §| 3 Sii HIFAT 3R TAe=afafrd geat % e Qo |

A
a5 —1 a3

35

40—

35 _l

30
T a0 e 7
25
Mumber of 25
Accidents
20—

15

lan Feb It Apr May June: ®
Month  ——x

Compared to the month of January, what is the percentage of decrease in accidents in the month of February ?

aﬂaﬁﬁgégémﬁ@rgmﬁ, Wﬂﬁ@gﬁmﬁ%mﬁﬁ?mw%?
Options:

1) 25

2)24

3)30

4) 27
Correct Answer: 24
Candidate Answer: 24

Question 74.The bar-chart is showing the number of accidents in a city during the first six month of a year . Examine the bar chart and answer the following questions

Igl T T IR-1E A I & JUH 6 Alg H g% GHA3 hT TEAT &M 975 8| SHHI Sirer AT 3R fez=afafara geat & 3eaw A

35—t 43

=
=]

-
o
| ]
|

35

7

5
Mumber of 25
Accidents

Manth  ——3

By what number, is the number of accidents that occurred in April is greater than the average number of accidents that occurred during the 6 months period ?

mﬁggézﬂnﬁaﬁrm, Gmﬁﬁgémsﬁaﬁrmm#ﬁﬁ?ﬁm%?

Options:
1) 13.17

2)8
3)9

4) 11
Correct Answer: 13.17
Candidate Answer: 13.17



Question 75.The bar-chart is showing the number of accidents in a city during the first six month of a year . Examine the bar chart and answer the following questions

Igl T 91T IR-<1E A I & YYH 6 Alg & g GHCA3 HT FEIAT &2 7S | SHH Sita AT 3R fe=afaf@ra geat & 3eaw A

A
45—t a3
40—
| 33
35—t e
30
T 30 —| — 27
25
Mumber of 25—
Accidents 1 19
20—
15—
10—
5 —4
o
lan Feb It Apr May June: ®

Manth  ——3

Percentage of decrease in the number of accidents from May to June is :

ﬂ%#ag#aﬁagégémnﬁﬁdwﬁquﬁemﬁﬁm%?
Options:
1)

4
15=9
7/6

2
2?30/
7 ]

3)
2260/
7 ]

4)
18 E %
7
Correct Answer:
22 g %
Candidate Answer:

2260/
7 %0

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ADVERSITY

Options:

1) CHANCE

2) CAPACITY

3) Joy

4) MISFORTUNE

Correct Answer: MISFORTUNE

Candidate Answer: MISFORTUNE

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

TERMINATE

Options:

1) CONFINE
2) REPEAL

3) COMMENCE
4) PROGRESS

Correct Answer: COMMENCE
Candidate Answer: CONFINE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Quintessance

2) Quintessence

3) Quaintessence

4) Quintassence

Correct Answer: Quintessence

Candidate Answer: Quaintessence



Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

If the farmer got a washing machine(A)/his wife can(B)/do the laundry quickly(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

They had often heard(A)/about the ship(B)/they have to travel on(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He'd no sooner(A)/seen one continent(B)/when he saw another(C)/No error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The ship with its crew
Options:

1) has

2) have

3) are

4) none

Correct Answer: have
Candidate Answer: has

gone to the bottom of the sea.

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The peon respectfully asked if he go there
Options:

1) may

2) might

3) can

4) will

Correct Answer: might

Candidate Answer: might

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I know certain that he has gone to England
Options:

1) with

2) of

3) by

4) for

Correct Answer: for

Candidate Answer: for

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To eat humble pie



Options:

1) To eat an unsavoury pie

2) To be served food that is rotten

3) To yield under humiliating circumstances

4) To give in to political pressure

Correct Answer: To yield under humiliating circumstances

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To end in smoke
Options:

1) To fail

2) To create smoke

3) Toend

4) To emit smoke
Correct Answer: To fail

Candidate Answer: To fail

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To spill the beans
Options:

1) To reveal partial truth
2) To be untidy

3) To reveal a secret

4) To conceal a fact

Correct Answer: To reveal a secret
Candidate Answer: To reveal a secret

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Committing murder in revenge
Options:

1) Massacre

2) Vendetta

3) Homicide

4) Regicide

Correct Answer: Vendetta
Candidate Answer: Massacre

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The thing that can be easily broken
Options:

1) Amorphous

2) Brittle

3) Subtle

4) Solid

Correct Answer: Brittle
Candidate Answer: Brittle

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An unimportant person
Options:

1) Nonagenarian

2) Nonentity

3) Nonpareil

4) Nonconformist

Correct Answer: Nonentity

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The tribe lived with different customs
Options:

1)on

2) by

3) through

4) No improvement

Correct Answer: by

Candidate Answer: by



Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Dumbfounded by the accusation, he could offer no serious defence
Options:

1) correct

2) certain

3) severe

4) No improvement

Correct Answer: No improvement

Candidate Answer: severe

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Ramu never makes at least a century each time he plays cricket
Options:

1) seldom

2) forever

3) always

4) No improvement

Correct Answer: always

Candidate Answer: always

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is given to gambling and drinking
Options:

1) given away

2) given in

3) given up

4) No improvement

Correct Answer: No improvement

Candidate Answer: given up

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I would soon walk than stand in the cold waiting for the bus
Options:

1) hardly

2) longer

3) sooner

4) No improvement

Correct Answer: sooner
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The stranger agreed to join Robin's band only on one condition. He wanted to join a competition of shooting arrows with Robin. If he was defeated in that
competition, he would gladly join Robin and his men. Soon arrangements for the competition was made. Robin's men carved bull's eye on the trunk of a tree at a
distance of about fifty yards. Taking out his bow and arrow the man carefully shot an arrow which struck right into the centre of the bull's eye. Robin's men were
surprised at the man's skill. Then Robin took the bow and shot an arrow which not only hit the bull's eye in the centre but broke the strangers arrow in the middle.
Robin thus proved that he had better skills than the stranger. The stranger was amazed to see this and said," I have never seen such a skill in all my life. it will be a
pleasure for me to join you and your men. My name is John Little. Robin and his men gladly welcomed him. But Robin said that from then on he would be known as
Little John.

What was the stranger's condition for joining Robin's band?
Options:

1) Only if he and Robin have a competition of shooting arrows

2) Only if he is defeated by Robin in a competition of shooting arrows
3) Only if he should be better than Robin in shooting arrows

4) Only if Robin would let him be better at shooting arrows

Correct Answer: Only if he is defeated by Robin in a competition of shooting arrows
Candidate Answer: Only if he is defeated by Robin in a competition of shooting arrows

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The stranger agreed to join Robin's band only on one condition. He wanted to join a competition of shooting arrows with Robin. If he was defeated in that
competition, he would gladly join Robin and his men. Soon arrangements for the competition was made. Robin's men carved bull's eye on the trunk of a tree at a
distance of about fifty yards. Taking out his bow and arrow the man carefully shot an arrow which struck right into the centre of the bull's eye. Robin's men were
surprised at the man's skill. Then Robin took the bow and shot an arrow which not only hit the bull's eye in the centre but broke the strangers arrow in the middle.
Robin thus proved that he had better skills than the stranger. The stranger was amazed to see this and said," I have never seen such a skill in all my life. it will be a
pleasure for me to join you and your men. My name is John Little. Robin and his men gladly welcomed him. But Robin said that from then on he would be known as
Little John.

What did Robin's men do?



Options:

1) They refused to let the stranger prove his skills
2) They sent the stranger away

3) They made arrangements for the competition
4) They made the stranger prove his skill

Correct Answer: They made arrangements for the competition
Candidate Answer: They made arrangements for the competition

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The stranger agreed to join Robin's band only on one condition. He wanted to join a competition of shooting arrows with Robin. If he was defeated in that
competition, he would gladly join Robin and his men. Soon arrangements for the competition was made. Robin's men carved bull's eye on the trunk of a tree at a
distance of about fifty yards. Taking out his bow and arrow the man carefully shot an arrow which struck right into the centre of the bull's eye. Robin's men were
surprised at the man's skill. Then Robin took the bow and shot an arrow which not only hit the bull's eye in the centre but broke the strangers arrow in the middle.
Robin thus proved that he had better skills than the stranger. The stranger was amazed to see this and said," I have never seen such a skill in all my life. it will be a
pleasure for me to join you and your men. My name is John Little. Robin and his men gladly welcomed him. But Robin said that from then on he would be known as
Little John.

How did the stranger know that Robin had better skill than him?

Options:

1) When Robin's arrow hit the bull's eye

2) When Robin agreed to let him compete with him

3) When Robin beat him in the competition

4) When Robin's arrow hit the bull's eye and broke the stranger's arrow

Correct Answer: When Robin's arrow hit the bull's eye and broke the stranger's arrow

Candidate Answer: When Robin's arrow hit the bull's eye and broke the stranger's arrow

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The stranger agreed to join Robin's band only on one condition. He wanted to join a competition of shooting arrows with Robin. If he was defeated in that
competition, he would gladly join Robin and his men. Soon arrangements for the competition was made. Robin's men carved bull's eye on the trunk of a tree at a
distance of about fifty yards. Taking out his bow and arrow the man carefully shot an arrow which struck right into the centre of the bull's eye. Robin's men were
surprised at the man's skill. Then Robin took the bow and shot an arrow which not only hit the bull's eye in the centre but broke the strangers arrow in the middle.
Robin thus proved that he had better skills than the stranger. The stranger was amazed to see this and said," I have never seen such a skill in all my life. it will be a
pleasure for me to join you and your men. My name is John Little. Robin and his men gladly welcomed him. But Robin said that from then on he would be known as
Little John.

What name did Robin give him?
Options:

1) Robin Little

2) John Little

3) Robin

4) Little John

Correct Answer: Little John

Candidate Answer: Little John

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The stranger agreed to join Robin's band only on one condition. He wanted to join a competition of shooting arrows with Robin. If he was defeated in that
competition, he would gladly join Robin and his men. Soon arrangements for the competition was made. Robin's men carved bull's eye on the trunk of a tree at a
distance of about fifty yards. Taking out his bow and arrow the man carefully shot an arrow which struck right into the centre of the bull's eye. Robin's men were
surprised at the man's skill. Then Robin took the bow and shot an arrow which not only hit the bull's eye in the centre but broke the strangers arrow in the middle.
Robin thus proved that he had better skills than the stranger. The stranger was amazed to see this and said," I have never seen such a skill in all my life. it will be a
pleasure for me to join you and your men. My name is John Little. Robin and his men gladly welcomed him. But Robin said that from then on he would be known as
Little John.

What did Robin do after the competition?

Options:

1) He welcomed the stranger to the band and changed his name

2) He changed the stranger's name

3) He welcomed the stranger

4) He sent the stranger away

Correct Answer: He welcomed the stranger to the band and changed his name
Candidate Answer: He welcomed the stranger to the band and changed his name



